HanmeHoBaHune PucyHok Pa3mep, m/macca, Kr
LUnT NnMHenHbIN. 1,2x3,3 121,3
lNpumeHsaeTca B S Im 1,0x3,3 105
rOPM30OHTarNIbHOM U SIS S S ES S 0,9x3,3 98,7
BEPTUKANbHOM MOSIOXEHUN. LE = Q 0,8x3,3 86,2
NNININISISS 078x3,3 85
! [N 0,76x3,3 835
NN NSNS 0,74x3,3 82
3 IR 0,7x3,3 79
! NS 0,65x3,3 75
/I NN 06x33 71
NSNS 0,55x3,3 67
NN NN 05x33 63
NSNS 0.45x33 58,5
0,4x3,3 55
0,3x3,3 47
0,25x3,3 44,7
1,2x3,0 114
1,0x3,0 97
0,9x3,0 90
0,85x3,0 85
0,8x3,0 82
0,78x3,0 79
0,76x3,0 77
0,74x3,0 76
0,7x3,0 73
0,65x3,0 69
0,6x3,0 65
0,55x3,0 61
0,5x3,0 58
0,45x3,0 534
0,4x3,0 50
0,3x3,0 42,3
0,25x3,0 38,8
1,2x2,5 100
1,0x2,5 86,9
0,9x2,5 80
0,8x2,5 73,3
0,74x2,5 69,4
0,7x2,5 67,9
0,6x2,5 60
0,5x2,5 53,1
0,4x2,5 46,5
0,3x2,5 38,3
0,25x2,5 34
1,2x1,2 48,6
1,0x1,2 42
0,9x1,2 38,7
0,8x1,2 35,4
0,78x1,2 33,4
0,76x1,2 32,8
0,74x1,2 32,2
0,7x1,2 30,9
0,6x1,2 27,6
0,5x1,2 24,3
0,4x1,2 21
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0,3x1,2 17,8
0,25x1,2 16,6

LLinT yrnoBOn HapyXHbIN.
Vcnonb3yetca ons
BbINOSIHEHWS
NPSAIMOYTONbHbIX HAPYXXHbIX
yrnos.

0,5x0,5x3,3 107
0,48x0,48x3,3 104
0,45x0,45x3,3 100
0,7x0,7x3,0 148
0,5x0,5x3,0 104
0,48x0,48x3,0 101
0,45x0,45x3,0 96,5
0,5x0,5x2,5 53,1
0,7x0,7x1,2 59
0,5x0,5x1,2 47
0,7x0,7x0,6 33
0,5x0,5x0,6 25

LLinT yrnoBOM HapyXHbIN.
VMcnonb3yeTca ons
BbIMOMHEHNS HAPYXKHbIX
yrnos 135 rpagycos.

0,5x0,5x3,0 135 rp. 94

LLwnT yrnoBon BHYTPEHHUMN.
Mcnonb3yeTca ons
BbINOMHEHNS
NPSIMOYrOfbHbIX BHYTPEHHUX
yrnos.

ISR )

0,6x0,6x3,3 109
0,5x0,5x3,3 83
0,4x0,4x3,3 78
0,3x0,3x3,3 66,5
0,6x0,6x3,0 104
0,5x0,5x3,0 75,3
0,4x0,4x3,0 75,4
0,3x0,3x3,0 63
0,3x0,3x2,5 49
0,4x0,4x1,2 32
0,3x0,3x1,2 27,5
0,4x0,4x0,6 22
0,3x0,3x0,6 15

LwnT yrnoBon BHYTPEHHUM.
Vicnonb3yeTca ons
BbINOMHEHNSI BHYTPEHHMX
yrnos 135 rpagycos.

0,4x0,4x3,0 135rp. 75,5

WwT wapHUpHbIN
HapY>XHbIW. VicnonbayeTcs
ansa opmmpoBaHus yrros

ot 60 go 180 rpagycos

(Tonbko B KavecTBe

HapY>XHOro yrna).

0,1x0,1x3,3 36,3
0,1x0,1x3,0 33
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LWuTt yrnoBomn 0,5x,3x3,3 83
yHUBepcanbHbIN 0,5x0,3x3,0 76
BHYTPEeHHUM. crnonb3yeTcsa
ans popMmMpoBaHns yrnoBbIX
BbICTYMOB CTEH.
LUinT onany6ku 0,5x0,5x3,3 102,4
LWapHUPHbIX. MicnonbayeTcs = E 0,3x0,3x3,3 77,8
ana opmMmpoBaHus (@ == tg;; 0,5x0,5x3,0 92,5
NPOM3BOSILHOIO yria CTEH OT all 0,3x0,3x3,0 67,5
60 o 300 rpaaycos. ] ; I ; 0,5x0,5x2,5 77,2
Hl N 0,3x0,3x2,5 57,2
iy b 0,5x0,5x1,2 37,5
% h A 0,3x0,3x1,2 20
=N AN 0,5x0,5x0,6 23,8
=N N 0,3x0,3x0,6 17,5
=R U




